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POLITICAL SCIENCE

Paper III
Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper contains Seventy-five (75) multiple choice questions, each ques-

tion carries two (2) marks. Attempt All of them.

1. Who evolved revolutionary strategy for the Asian countries ?
(A) Lenin (B) Mao
(C) Che Guevara : (D) Frantz Fanon

2 To which of the 'following position Marx did not subscribe ?

(A) The history of the world is history of class struggles

(B) The ruling classes can be overthrown only by a revolution

(C) Victory of the proletariat is inevitable

(D) The relations of production determine the mode of production
3. Which of the following is not a tenet of liberalism ?

(A) Priority of liberty over authority

(B) Opposition to change

(C) Secularization of politics

(D) Rights of citizens against the Government
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4. Arrange the following new concerns of political theory in correct chronological

order. (Use the codes)

(1)  Multiculturalism

(i) Citizenship theory
' (iti) Communitarianism

Codes :

(A)  (Gad), (i2), (@)

(B) (@), (@), (D)

(C) @), @), (iii')

(D) (i), (), (i)

5. Who described the Indian National Movement as a holy Yajné ?

(A) Gandhi (B) Savarkar
(C) Aurobindo Ghosh (D) Tilak
6. Who aré'ued at the second congress of the Communist International that the

communist parties in the colonial countries must not support the bourgeois

liberation movements ?
(A) Mao (B) Lenin

(C) Trotsky (D) M.N. Roy

T.B.C. : 40/13/ET-III 4
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(A) R ' (B) wFF
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A Who advocated that a ruler must combine the cunning of a fox with the

strength of a lion ?
(A) Kautilya (B) Machiavelli
(C) Hobbes : (D) Lenin

8. Which of the following does not belong to Hegel’s three ‘moments’ whose totality

encompasses the multi-faceted nature of human life ?
(A) the family (B) the peer group
(C) the civi! sociefy (D) the state

9. Which of the following is implied in Rousseau’s General Will ? (Use the codes

given below) :

() Rule of law

(&) Civic education

(iit) Non-particularist citizenship virtues
Codes :

(A) only (i) and {iz)

(B) only (i) and (i)

(C) only (i) and (iii)

(D) @), (i) and (iii)

T.B.C. : 40/13/ET-III 6
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10.

11.

12,

13.

Who is described as gentle anarchist ?

(A) M.N. Roy (B) Gandhi

(C) Jaya Prakash Narayan (D) Savarkar

Who revived the political ideas of Aristotle during the medieval period ?
(A) St. Aﬁgustine (B) Pope Gelasius

(C) John of Salisbury (_D) St. Thomas Aquinas

Who described reality with the help of analogy of caves and shadows ?

(A) Rousseau (B) Ambedkar

(C) Plato (D) Mao

* Who argued that human beings are equal by nature and therefore

nothing can put any one under the authority of anybody else except his own

consent ?
(A) Rousseau (B) Gandhi
(C) Mill (D) Locke

T.B.C. : 40/13/ET-III 8
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14.

15.

16.

Who advocated the use of inductive method for the study of social sciences

and asserted that the scientific study of Politics, Economics and Sociology is

possible ?
(A) Mill i (B) Marx
(C) M.N. Roy (D) Hobbes

The core value in the concept of individual justice is liberty, while in social

Justice it iS ....ccoovvnnennnnnnn.. .
(A) democracy (B) rights

(C) equality (D) rule of law

Find the mismatch between the political thinkers and ideas associated

with them :

(A) Gandhi — Bread labour

(B) Hobbes — State of Nature

(C) Rawls — Original position

(D). Mill -— Dictatorship of the proletariat

T.B.C. : 40/13/ET-III 10



14. ﬁmﬁmﬁ@ﬁﬁmﬁfaﬂmﬁﬁﬁaﬁmm

@aﬁteﬁﬁwﬁuﬁ,aﬁmaﬂimw%ﬁmawﬁﬂa

g ?
A) fre - (B) A&
(C) T ™ (D) @

15 ofEE =@ F AU § Yol Uo7 WS ¢ | g A H e w2
(A) WS ¢ (B) #HfgsR
(C) FHM (D) A &1 A

16. mmmmmmﬁﬁm(ﬁ@a)ﬁ@:

(A) T — U@ & fau o=
(B) ®fsH — yrhfas ATl
(C) TeH —  Ha fefa

(D) fa& — gaeW &1 AfuaEed
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18.

19.

20.

T.B.C.

The study of comparative politics includes all of the following, exeept :
(A) Description (B) Explanation
(C) Control (D) Prediction

Political structures that develop, reinforce, and transform attitudes of political

significance in the society are part of political :

(A) Recruitment (B) Socialization

(C) Policies (D) Outcomes

Political socialization refers to :

(A) Political parties and interest groups

(B) Interest aggregation

(C) F ormation of political attitudes

(D) Social patterns of political behaviour

Legitimation crisis according to Jurgen Habermas is a result of :

(A) Contradiction between the logic of capitalist accumulation on the one
hand, and the popular pressures which democratic politics unrashes

on the other
(B) Peasants and proletarian challenge to the state
(C) Growing aspiration of the middle classes

(D) Undue pressure from trade unions
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21. Political trust is essential to the stability of :
(A) democratic regimes (B) authoritarian regimes
(C) any political system_ | (D) totalitarian regimes
22. The purpose of interests articulation is to determine what public and socia
groups :
(A) receive from government
(B) dgsire from government
(C) will. accept as a baseline for government performance
(D) will use aé an excuse for political protest
23. C. Wright Mill’'s ‘The Power Elite’ was a study of the politics of :
(A) Great Britain
(B) France
(C) United States of America
(D) The Union of Soviet Socialist Republic
24. Associational groups may include all of the following, except :
(A) American Sfudent groups (B) French Medical Association

(C) Canadian Rifle Association (D) British Royal Family
T.B.C. : 40/13/ET-III - 14



21.

22,

23.

24.

T.B.C.

TSIt e forash fou stevgs & 2
(A) YSar=er ImEEl % fag (B) HwmamEl ymaEl & fow
(C) fwdr of yoafas =gawen & f&w (D) SduwHs wEAl & fau

fea g (2= emefagay™) &1 Sivg g% ghfvea & § &5 s@ar ek
ST 998 :

(A) TFR § 37 W< W @

(B) WHR & F91 =@d ©

(C) Wﬁwﬁﬁmmw@anﬁﬂ

(D) Tefas faly & foq =@M % ®9 § w&@m 3
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25.  Match List I with List II and select the correct answer from the codes given

below :
List 1 ' List TI

(@ A.V. Dipey ) (i) An Introduction to the Study of
the Law of the Constitution

(b) Walter Bagehot (@z) The Constitutional Gpvemment
and Democracy

(¢) Carl J. Friedrich (zii) The English Constitution

(d) S.F. Finer (fv) Five Constitutions

Codes :

(a) b)) (@ (@
(A) @) G G @)
(B) @ @) - G Gv)
(C) @ @) @ @
D) @ @) @)  (v)
26.  Constitutions may be :
(A) Written documents (B) Case laws

(C) Customs and Practices (D) All of these
T.B.C. : 40/13/ET-III 16



25. fa= I 3R foe 11 &1 3@ =#ifve o = 2 @ o2 ¥ 9 s Ifw .

foe 1 foe II
(@) Tud eEH () T T2eRM 2T Wl AE of fF
T FEERA
(b) WX HATER (i) T FIRIERE TEHEE T
SmhE!
@ F J wefEw (@) T ¥ FEE
(d) TATE. Ww' (lv) HEA B

@ ® © @
A G G G 6
B G G G G
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26. HfEyH
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(C) WAER-gaer & Tadl & D) F Toff & ga &
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27.

28.

29.

In federal systems, the two chambers generally represent :
(A) Population and geography

(B; Two separate political parties

(C) Ideological separation

(D) Social status groups

Who among the following authors criticised the traditional approach to the
study of comparative éovernment as essentially non-comparative, descriptive,

parochial, static and monographic ?

(A) David Easton (B) Roy C. Macridis
(C) Harry Eckstein : (D) David E. Apter
Under the Articles of Confederation, the United States was :
(A) Unitafy

(B) Federal

(C) Confederal

(D) Made up of completely independent states

I'.B.C. : 40/13/ET-III ' 18



27. @HrE yorelt # 1 wed R frwe wfafifue wa € 2
(A) mwaﬂwﬁam
B) A sr-sem T o W
(C) T=IfF M ol
(D) WS Wk 99 #1

28. frefdfed orgsi § goas SR & 19 &1 YREiE Ygfd & Ry 9w
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fafea=ig T ?
A) 2fas $=m (B) Ta. €. FFIE
(C) & waweH (D) 2fgs 2. A=y

29. uftH F SRl F R FARE VW T
(A) THFHF (FF) o |
(B) §H 1
(C) uftgs o1

D) of 9 § @Wa= T H 571 9@
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30.  When we speak of the structural-functional mapping of government and politics

that helps us understand how different political processes interact at any one

time, we are studying :

(A) Political dynamics

(C) Agencies and institutions

(B)
(D)

Comparative statics

International processes

31 Given below in List I are the names of some authors and in List II the

titles of their works. With the help of codes given below find the correet

match :
List I
(@) A.G. Noorani

(b) Morris Jones W.H.

(c) Ivor Jennings

(d) D.D. Basu

Codes :

(@) b)) @ (@
(A) @ () @  Ga)
(B) (@) @) Gv) @)
C @) @ (v @
D) @) @) @G @

T.B.C. : 40/13/ET-III
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(@)

(ii7)

(iv)

List II
Parliament in India
Introduction to the Constitution of
India
India’s Constitution and Politics
Some characteristics of Indian

Constitution



30. W9 TH WFO-FRAA TEA ¥ WHR FAR Tedfa  gEfEse #1 s
F 8 A B OTE e § Wee Tt ¥ fF fre-fam uoifas e N W
W E R R T T uE @ W yifed s ¥ 2 @ 9% snemme a
FHEAEm ?

(A) difafesa eEiaeg - (B) qoie ey
(C) uSifgal iR deard (D) <A wfwand

31. = fam 1 # %9 d@w & W ¥ iR faw I § =t s & | 52 & oW

foee 1 fore 1
> (@ TS A ~ ’ (i) fefarve g sfrsa
) #fE I Ty T (i) TESRE T T FHILlegyH Alh
B |
(c) @R WA . (i) 3fvear HIEERA we dfafe
d) <€ =g (iv) HH HEFRAEFE AF e
ISR

(a) b @ @
A @ @v) @) @@
(B) (@) @) Gv) @)
€ @@ @ (G @
D) Gv) (i) @) @)
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32.

33.

34.

Which period is considered the period of Congress hegemony ?
(A) 1952-63 (B) 1952-67

(C) 1952-72 : D) 1952-75

" In which year did the Muslim League pass the resolution demanding

Pakistan ?
(A) 1931 . : (B) 1937
(C) 1940 (D) 1942

Who has been given the responsibility of conducting elections to the

Village Panchayats ?

(A) Rural Development Minister of the State

(B) Chief Secretary of the State

(C) Election Commission of India

(D) State Election Commission

T.B.C. : 40/13/ET-III 22



32. f&9 999 + FUE 3 WU F FA GE S@@AOE 2
(A) 1952-63 (B) 1952-67
(C) 1952-72 (D) 1952-75
33. Hfem & 3 g ad ofew =t 79 1 gwE 99 e ?
(A) 1931 A } (B) 1937
(C) 1940 (D) 1942
34. mﬁmﬁ%wmﬁﬁﬁﬁmﬂﬁ%ﬁﬂi% ?'
(A) T & T fawE w5 S
(B) =9 &% {&g "fad &l
(C) ¥Rd & =A™ AN

(D) T & FA™ JE H
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35. Given below in List I are the names of some NGOs and in List II the
states where they were/are mainly based. With the help of codes given below
find the correct match :

List I List II
. (@) Hind Swaraj‘ Trust . (i) Madhya Pradesh
(b) Ekta Parishad (@) Punjab

(¢) Bhartiya Kisan Union (Rajewal) (zii) Uttarakhand
(d) Chipko Andolan (iv) Maharashtra
Codes :
@ ®- © @
(A) () (@) @ G
(B) (@) (i). @) (Gv)
C) G @ Gv) @)
(D) (@v) () () @)
36.  Given below are the names of some political leaders. The political party to
which each of them belongs is indicated against their names.

Find the mismatch :

(A) Mayawati — BSP
(B) Sharad Pawar | — JDU
(C) Shanta Kumar — BJP
(D) Sita Ram Yechuri — CPM

T.B.C. : 40/13/ET-II1 24



35. 4 fo= 18 %3 WStal $ W KA ¥ o foe 11 & =7 w4l & el 9 7=
Y 9 Ui ¥ | #2 F weIa ¥ wE SwW g

oz 1

(@) To= w9 T=

(b) THdal 9feg

foe 11
(i) | YW

() YE

(¢) uRdE fFam =T (TsEE) (iii) IATEUS

(@) feu=r s<rem
He -

(@) - (b)
(A) (@v) (2)
(B) @) (2)
(C) () (21)

(D) (iv) (ziz)

(c)

(i)
(idi)
(iv)

(@)

(iv) TERT

(d)

(iif)
(iv)
@

(@)

36. = ®HB U@ & T T ¥ ol s e = uorifew o @ fR 3
Tt § | o9 we e €2

(A) wrEE
(B) ¥R AR
(C) =T HAR
(D) wamr A
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37. When was All India Women’s Conference (AIWC) set up ?
(A) 1920 (B) 1927
(C) 1932 . (D) 1934

38. Where do the states’ revenues mainly come from ? (Use the codes given

below) :

(i) land revenue

(1) transfer sanctioned by the Finance Commission
(i) transfer from the Planning Cémmission

(lv) assignments under the seventh schedule
Codes :

(A) (2), (i) and (iv) only

(B) (i) and (iii) only

(C) @), i) gnd (iv) only

D) @), Gi), (i) and (iv)

T.B.C. : 40/13/ET-III 26



37. e sfrea 9 FEE W T w2

' (A) 1920 (B) 1927
(C) 1932 i (D) 1934
38. U FHI TS HEAW: wEl ¥ e ¥ 2 (e 3 7 2 =1 v FHifm 1)
@) 9F =

@) faw smEe gro Eﬁ% W

(i) IS STEM R TRAER

(o) el oTTEE @ e fiutfa =1 T o
FHE :

(A) =Fa (), (i) R (iv)

(B) =ae (i) 3R (iii)

(C) Haa (i), (iii) 3R (iv)

M) @), Gi), (i) 3R (Gv)
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39.

40.

41.

42.

43.

Who headed the National Commission for the reworking of the Indian

Constitution ?
(A) R.S. Sarkaria ' (B) Montek Singh Ahluwalia
(C) M.K. Kaw k (D) George Mathews

Who suggested that the Election Commission be made a multi-member

body ?
(A) Peri Shastri ' (B) Tarkunde
(C) V.P. Singh ~ (D) T.N. Seshan

Who implemented the Mandal Commission Report in 1990 ?

(A) Rajiv Gandhi - B) VP. Singh

(C) Inder Kumar Gujaral (D) Narsimharao

Who appointed the Tarkunde Committee on electoral reforms in 1975 ?
(A) Govt. of India (B) Forum for Democracy

(C) Union for Civil Liberties (D) Citizens for Democracy

Who guided the students’ movement in Bihar which culminated in a call fo

total revolution ?
(A) Charu Mazumdar (B) Kanu Sanayal

(C) Jaya Prakash Narayan (D) Birsa Munda

T.B.C. : 40/13/ET-IIT | 28



40.

41.

42.

43.

YA e #1 AR W TSR S & {99 T UsdE SEnT @i stememr
o & 27

(A) RTH. TR | (B) #iew fHe smeganfemn
(C) TH. = (D) =Tt Hegs
Wwﬁﬂﬁmmﬁmwmﬁﬁm?

A) ¥ wrsh | (B) RS

(C) =t fas ) D) FwA. oA
199oﬁmgaam.?maﬁﬁq}ia%ﬁaﬁmfﬁaaﬁm?

(A) it T (B) . fow

(C) T% |/IX T (D) TfEw =

1975 ¥ A gudl & fou arspeg 3 & e fgwa fear 2

(A) YR &R - (B) WRH WR SHEhE

(C) FfFa wr fafaw fadly (D) fodo=g BR SHERdE

faer & =@ ar=en fSust werer |@yvl wifa § g€, =1 mriey fean fean

qr ?
(A) =T AHER (B) - &1 HHATA
(C) =@ Yl AREY (D) fag=n goet
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45.

46.

47.

Which multinational corporations were attacked during the Farmers’

movements of 1980s and 1990s ?
(A) KFC only (B) KFC and Cargil only
(C) Cargil and Monsanto only (D) KFC, Cargil and Monsanto

In which famous case did the Supreme Court open its doors for Public

Interest Litigation (PIL) ?

(A) S.P. Gupta Case (B) Laxmi Kant Pandey Case
(C) Third Judges Case (D) Almitra Patel Case

When did the BJP form its own state governments for the first time ?
(A) 1977 . (B) 1980

(C) 1990 (D) 1996

Who is the author of ‘Homo Hierarchicus’ ?

(A) A. Beteille (B) L. Dumont

(C) G.S. Ghurye (D) S.S. Jodhka

T.B.C. : 40/13/ET-III 30



44.

45.

46.

47.

(A) #ad B.UFETG. W : (B) @%ad S.UR.H. 3R Frfie w
(C) el FROS oiw A= W (D) HFURH., FRAE v WH= w

ﬁmmmﬁmwﬁmmmmm)%mmm

e i 2

&) wEd. T B (B) i wwRa
(C)mm(mﬁvﬁ)%ﬂ (D) fHsT 9ed $9
AIAH F T F ot wER weeh SR ww w9 2

(A) 1977 ¥ (B) 1980 #

(C) 1990 H D) 1996 #H

T wEelREE’ # YEE s § 2

(A) T (B) wd. gHf

(©) Sftug. =3 (D) TH.UE. e
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48.  Which of the following basic principles were outlined by Mayo’s philosophy

and the Hawthorne experiments ?
(1) - Social norms -

(2) Group standards

(3) Rewards and Sanctions

(4) Supervision

Select the correet answer from the codes given Below :
Codes :

(A) (1) and (3) only

(B) (2) and (4) only

(C) (1), (3) and (4) only

(D) (1), (2), (3) and (4)

49.  Which one of the following is not a principle of Scientific Management

developed by Taylor ?
(A) Standardization of work methods
(B) Spirit de corps

(C) Standardization of working conditions

(D) Incentive of higher wages
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48,  TE & Ty &N wdE & wAnt 3 frafafe # § S99 smuryd fag s ®9-
W ?

(1) fage A7

(2) ¥HE WEH

(3) TEFR iR TvE

(4) Tdiam

HZ H TN FA L FE IW AT
. .

(A) Had (1) 3 (3)

(B) #hae (2) 3R (4)

(C) Haa (1), (3) 3R (4)

D) (1), (2), (3) 3 (4)

s, i # @ s B g s Rl T AP s feis @ 2
(A) & & TOH FT AERHO |
(B) fofe-di-=rd
(C) ™ T FHENE H HHARH

(D) J=aal dd9 H1 FEEA
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50.

51.

52.

Which one of the following pairs is not correctly matched ?

(A) Classical theory of organisation (1) Henri Fayol

(B) Scalar process (2) Mooney
(C) Functional foremanship (3) Max Weber
(D) Span of conizrol (4) Graicunas

The fourteen principles of organisation were propounded by :
(A) L.D. White (B) Dimock and Dimock
(C) Woodrow Wilson (D) Henri Fayol

The first essential requirement for implementing any new programme in

administration is :
(A) Recruitment (B) Personnel

(C) Training (D) Organisation

T.B.C. : 40/13/ET-III 34



51.

52.

frafafaa 3 4 =98 e # fgam o8 T8 ¥ 2

(A) =Fofaed <Rt 3w SffAEsyE (1) 290 B9

(B) e WHE (2) T
(C) HRHA HRHAANYTY (3) T A
D) B E waw @)

13 & 14 fagr & e wga e 2

(A) TAE. =R (B) feufs 3ix feufs

(C) =2 faemm (D) T B

wied & fedt 78 dum @ FEiead & fau ueelt gosg stavasar ¥ § 2

(A) ot (B) wHHERI

(C) wyferegm (D) A
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53.

54.

55.

What is the correct sequence of the following stages in administrative decision-
making ?

(1) Identification of problem

(2) Solution selection .

(3) Search for alternatives

(4) . Evaluation of alternatives

Select the correct answer from the codes given below :
Codes : :

(A) (1), (2): (3) and (4)

(B) (1), (4), (3) and (2)

(C) (1), (3), (4) and (2)

(D) (1), (2), (4) and (3)

Who among the following has questioned Weber’s idea that rational

bureaucracy is a modern phenomenon ?
(A) Robert Merton (B) Herbert Simon

(C) H.C. Creel (D) Paul Appleby

- Which one of the following writs is generally addressed to administrative

authorities ?
(A) Prohibition A (B) Certiorari

(C) Mandamus (D) Both Prohibition and Certiorari
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53. Wt favfa frafoor § Frefefed sl =1 wd ww Fw E 2
(1) H95=1 & 9891
(2) B A
(3) fasedi 1 qeme
(4) Tawedi =1 geaiww |
ﬁﬁﬁﬁagwmmgqvﬁﬁtﬁﬁq:
wHE :
Aa) @), 2), 3) R (@
B) (D), (4), (3) 3R (2)
(C) (D), (3), (4) AR (2)
D) (D), (2), (4) 3R (3)
54. M F W faum W fF Y s wE anufe aex ¥ feed weehas

AT 7
A) T WS - (B) ®&E wEme
(C) wad. = (D) 9e ToeE

35. mﬁmﬁw&ﬁaﬁwﬁwﬁ%ﬁaﬁﬁa%m%?
(A) wifefam (B) wfésig
(©) Hvzmg ‘ D) MR ik affsRd o
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56.  Which state first established the institution of Lokayukta in India ?

(A)
(C)

Rajasthan (B) Maharashtra
P (D) Tamil Nadu

57.  Which one of the following Committees/Commissions has observed that the

CAG reports are sometimes unduly negative and their focus is on

irregularities and fault finding ?

(A)
(B)
(C)
(D)

The Public Accounts Committee
The First Administrative Reforms Commission
The Second Administrative Reforms Commission

Paul Appleby Report

58.  Which of the following are the voluntary provisions of the 73rd Constitutional
Amendment Act, 1992 ?

(1)

(2)

(3)
(4)

Fixing the minimum age for contesting elections to Panchayati Raj

institutions

Providing indirect elections to the post of chairman at the intermediate

and apex tiers
Making the Panchayats autonomous bodies

Providing reservation for backward classes

Select the correct answer from the codes given below :

Codes :

(A) (1) and (4)

(B) (2) and (4)

(C) (3) and (4)

(D) (1), (3) and (4)
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58.

wﬁmaﬁmmvﬁmmﬁwﬁaaﬁ?
(A) TSI (B) #errs
(C) 7.4t (D) dfFemrg

mm/mﬁwﬁmﬁaﬁ%ﬁsaﬁ(zﬁqﬁ)aﬁﬁéﬁwaﬁm
HQWM%WWWWWW@WM%?

(A) =% wrer gfafy

(B) weem wwmaftw gur wrve

(C) THU Womef s gur Fwiye

D) 9T Toersl fdid
1992%73€fﬁﬁrmmﬁmmﬁﬁﬂﬁf@aﬁ@mwm§?
(1) ﬁmﬁmmaﬁwwagﬁaﬁﬁmma@ﬁufﬁam

(2) Waﬁumﬁma}awaqaﬁmmawmmaﬁm
(3) weEdl ® w@rEw geerd s s
4) To=2 =l & fau smam &1 yEam o
ﬂ%ﬁﬁnﬁa@wmwrégqvﬂmgﬁq:

HE

(A) () 3R (4)

(B) (2) 3 (4)

(C) (3) 3R (4)

D) (1), (3) 3w (4)
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59.

60.

61.

Which of the followihg are the features of the road map drawn by the
Union Ministry of Panchayati Raj ?

(1) Empowerment

(2) Enablement

(3) Acco@tabihty

(4) e-Governance

Select the correct answer from the codes given below :
Codes :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1), (3) and (4) only

(D) (1), (2), (3) and (4)

Which of the following Committees/Commissions has recommended the

creation of a Local Body Ombudsman ?

(A) The First Administrative Reforms Commission

(B) The Second Administrative Reforms Commission

(C) ‘The National Commission to Review the Working of the Constitution'
(D) L.M. Singhvi Committee

Right to Information Act, 2005 primarily helps the cause of :

(A) Political reforms (B) Economic reforms

(C) Legal reforms (D) Transparent Administration
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29.

60.

61.

T.B.C.

F5d qEEd S AAEE g aR W ERen & freAfafed § 9 $E weo
¥ 2

(1) SRRl

(2) wfasrEeg=a

(3) SWEfae

(4) I-TEA"

A= fad T Fg # ovee ¥ W@ IW 9P
HE :

(A) @aa (1) 3K (2)

B) (@) 3 @)

(C) =aa (1), (3) 3R (4)

(D) (1), (2), 3) i @)

wﬂhmﬁa}maﬂmﬁw%waﬁmﬁmﬁwﬁf@ammﬁ
g f& #1 7

(A) "o WeEfTE gUR FHEE g

(B) T& WIHTH GuUR FHHYE gW

(©) aﬁmaﬁaﬁn%m%mmnﬁmmm
(D) UA.uH. fouet wHE g

2005 1 I F ATUFR TR gemd: fF9 3wy § 9w ¥ 2

(A) TSHfas GUR (B) enfds guRr

(C) =TIl GuR (D) weTEA H YRR
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62. Morton Kaplan’s model of unit veto system implies :
(A) anventional weapons (B) Marine warfare
(C) Biological weapons (D) Nuclear weapons
63. End of History means :
(A) History will not progress any further
(B) One country will rule over others

(C) There will be competition among different States for power

and prestige

-

(D) Triumph of liberal democratic system and acceptance that this is

the best

64. According to Samuel P. Huntington in the post-cold war era major source

of conflict will be on the basis of :
(A) Economic differences among Nations
(B) Differences based on civilizational aspects
(C) Ideological differences
(D) Arms Race
65. Which Philosopher justified the use of force by the State ?
(A) Gandhi (B) Rousseau

(C) Hegel (D) Kant
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63.

64.

ZB.C. :

A F @ e A fown aew w1 F wE ¥ 2
(A) TR BfaEr (B) w9 IS
(C) Sifaw sfaar | (D) —fFTaR &R
e E fedt @ oa wid ¥ 2

(A) sfae iR sm wnfa =& +um

(B) U& ¥ 31 QW W WA Ham

(C) f=-fa= v 4 wifm iR vfassr & fom gud

(D) 3R Foai=h =Haeensd #1 fa5g iR 39 91 #1 @it F 98 gatam §

ﬁqmﬁ.éﬁmémm%aﬁm%méwmg@@aw

g ?

(A) T H i 3=

(B) wwar iyl veqeli 9w Haug
(C) faarumy snufia wa9g

(D) Tl #t 2

T 3 wfe & wam & e enife 3 sfaa ssman 2

(A) Tiieft (B) =4
(C) B (D) wTUE
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66. Which countries were involved in war of ten years from 1979 onwards ?
(A) Iran and Iraq - (B) Palestine and Syria
(C) Iraq and Kuwait (D) Israel and Iran
67. The Policies of Glasnost and Perestroika are associated with :
(A) Mao (B) Gorbachev
(C) Stalin (D) Thatcher
68. G-8 is a groupi;lg of :
(A) Least ,Develo'ped Countries
(B) Developing Countries
(C) Most Developed Industrialized Countries
(D) Poor Countries
69. Which one is the correct chronological order of the following treaties ?
(A) NPT, PTEBT., CT.B1. B - PTBT., NPT, CITRTY.
(C) " CTBIT . NPT, PTIBE . o) BPXBI., CTBT., N2T.

70. India and Soviet Union signed the treaty of peace, friendship and

co-operation in the year :
(A) 1969 (B) 1970

(C) 1971 (D) 1972
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66. 1979 | WHT 10 T TH HHAY o W F IF TeAal @ ?
(A) TH IR TF ~ (B) frfasts ik difen
(C) =% iR Hiq (D) TEA AR A
67. TarRE IR Weigw w1 A w1 wEy ey ¥ 2
(A) =137t (B) That=g
(€) wfEH (D) &=R
68. Gf°f-8ﬁFle'$ﬁW'ﬂ"IE% 2
(A) 998 =9 faswfaa asﬁ =T
(B) fawmasftar <@ =
(C) w=d ﬁ:miqa i qui =
(D) fad= 2 =
69. Trafafes dfudl &1 & Fo-%3 1 & 2
(A) TELEL, AEE., @A&E  B) A, wdd, @A
(C) #ASA, W, fAfEd (D) RHAHA, SARDA, @A
70. 9RG R HifsFe d@wo# wfw, fasar ol wedm w5t d@fa frg wd g 2
(A) 1969 (B) 1970 | |

(C) 1971 B¢ & I ()
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72.

73.

74.

75.

The Gujral doc;trine is concerned with India’s relationship with :
(A) China (B) Japan

(C) USA (D) South Asian States
“Line of Actual Control” iLAC) is situated between :

(A) India and Pakistan (B) India and Bangladesh
(C) China and India (D) Pakistan and Afghanistan
The USA-India Nuclear Agreement was signed by :

(A) Manmohan Singh and Bill Clinton

(B) Jaswant Singh and Talbott

(C) Rajeev Gandhi and George Bush

(D) Manmohan Singh and George Bush

Which Summit meeting of BRICS was held in New Delhi 7'

(A) Fourth (B) Third

(C) Second (D) First

India played an important role in diffusing tension during the :

(A) Gulf war (B) Korean war

(C) Cuban Missile Crisis (D) Balkan wars
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71. T fagra Wi ® fFus g HEdi & AR A ¥ ?
(A) = & (B) <M= ¥
€ FTwET ¥ (D) fam oREn @ wd @
72. ‘oA e Ugme o (TEUHEL) R S & s fem § 2
(A) urE 3R s (B) 9Rd 3R siene¥l
(C) =M 3 wRd (D) wifem SR AERA
73. F.TET AR 9RG & W= WA FEEn ) T swe) R o9 2
() e i i fr
(B) e feg 3R e
(C) TS it 3R =S qw
(D) H9EA f97 3R 9 99
74. Tomw w1 wEE e w9 7 fooet Hogsmowr ?
(A) =hen (B)
(C) T&u (D) 9eed
75. 9 3 g g5 d @@ w9 w0 § ooy qffe e 2
(A) TEF (@El) IS (B) = 48

(C) == w1 foumEa ¥&e D) wh 4§
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